YpByynax TOrjioom

WNaxy6 yiincannaa LaacaH [193p TOr NOA4Or TOr/IOOM 30XMOXK93. OXNI394 N WMPXar a4, as,...,ay T00 6U4H3. BrucaH
TOOHYY I Hb 36BXeH 0 toM yy 1 6aitHa. i,j toog songon avaad (1<=i<=j<=n) [i,j] zavsar dahi buh a; toonuudiig erguulne.

X too ni x=1-x bolno. TornooMbIH 30pVNnro 60N 36BXEH HAr YNA3N XWAraaa 6ONOMXKUT XaMr UiAH ONTOH HArY Y AUiAr
raprax aeax oM. Maxy6blH TOr 100MbIF WWALASF NPOrpam 30XUOHO VY.

Input

The first line of the input contains an integer n (1 < n< 100). In the second line of the input there
are nintegers: a4, ao, ..., an. It is guaranteed that each of those n values is either 0 or 1.

Output
Print an integer — the maximal number of 1s that can be obtained after exactly one move.
Example

Input 1:

5
10010

Output 1:
4
Input 2:

4
1001

Output 2:

4
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